1 ) What value for x makes the equation true?

X —
§+15—25

2) Solve for x.

10x-3x+5=26

A 13
6 3) Enrique was asked to solve the equation3(x + 2) = ]2 His steps are shown.
B.
c 331 Step1:3(x +2)=12
= Step2:3y +6=12
: Step3: 3y =6
D. 13 Step4: . _ 3

Which statement about his solution is correct?

A The problem is worked correctly at each step.
B. In Step 2 the problem should be3,. 4 2 — 12

C__In Step 3 the problem should be3, — 18

G In Step 4 the problem should bey =3
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1)13+-9= 6)-15—18 =

2)-20 +-2 = 7)5—(-9) =
3)10—13 = 8) -7—(-2) =
4)-30_8= 9) 100 +-2 =

5) 14(-2) = 10)(-10) =-5 =




Solve an
equation with

grouping
symbols.
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Ex. 9 —:13(18 +12q) 9 6(2q-7)
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There are 3 types of solutions:
Infinitely M No Soluti | luti
One Solution - you get a variable equals a number

4=t ) x=-2, y=1

Infinitely Many Solutions (ldentity Equation) - you get

a number equals itself or a variable equals itself.

3=3 X=w ;m+3:&a43

J

No Solution Equation - you get a number equals
another number ‘7
Qx> , 1#4



Ex.> |

A student concluded thatg, — 12 = 4( _lx 8 )has infinitely many solutions. Which statement best
-" /

describes the student's conclusion?

A

@ The conclusion is incorrect because There TS exactly one solution {0 The équalion.

Re12= 4 (hx-6) @ist prop)
Bx—12= &y -y et prep

CKr-2x— \ L= AX-Ax~- DJ{('S wbt. prop. =)
x-\A==a1 P




W‘hich statement regarding the number of solutions for the linear equation shown below is true?

—lx—13=11(x+13)

oS ‘l"‘ 15= J—(x+ 13)

B. There is exactly one solution.

C. There are exactly two solutions. (d .\.) _L'.l_ X - 1’5 - —’!{— X + ll%‘

D. There are infinitely many solution Pr?

Gt pmy X fx-13= %;X-{,-X‘P
~13# 13




E)‘f' A linear equation is shown below.

10w+ 19+ 3w = 6(9 - “~) - 14

Which statement is true?
(B._ The solution to the equation @

C. The solutions to the equation are 3 and 7.
/ B. I Ile emm | . - -

LOw +1\9 ¥3w= e(A+tw)-|¢
[ow T\ +3w = 54 H,w..-[l-{ (dist ,pvaf-)
13wt19 = w+ Y40




